

CITY OF MIDDLETOWN, CT
 Department Review Report
 Bid# 2024-021 PURCHASE OF PIPING, HYDRANTS, MANHOL

#	Description	Qty	SUPERIOR PRODUCTS DIST., INC. MILLDALE, CT		CORE & MAIN LP NEW BRITAIN, CT		FW WEBB COMPANY HARTFORD, CT		FERGUSON US HOLDINGS, INC. NEWINGTON, CT	
			Unit-Price	Extension	Unit-Price	Extension	Unit-Price	Extension	Unit-Price	Extension
1	2 PIECE CAST IRON GATE BOXES (INC. 5-1/4" COVERS), SLIP TYPE (26" TOP SECTION, 36" BOTTOM SECTION & COVER) SIMILAR TO TYLER UNION 7126	100.00	161.98	16,198.00	232.00	23,200.00			219.13	21,913.00
2	26" SLIP TYPE, CAST IRON GATE BOX, TOP SECTION ONLY	25.00	74.82	1,870.50	105.00	2,625.00			95.38	2,384.50
3	36" SLIP TYPE, CAST IRON GATE BOX, BOTTOM SECTION ONLY	25.00	68.37	1,709.25	107.00	2,675.00			98.00	2,450.00
4	CAST IRON GATE BOX, COVER ONLY	25.00	22.04	551.00	20.00	500.00			18.38	459.50
5	GATE BOX EXTENSION SIZE 5 1/4 X 24" LESS COVER TYLER UNION 69A SLIP RISER	25.00	79.64	1,991.00	67.00	1,675.00			61.25	1,531.25
6	6" VALVE BOX ADAPTOR II (ADAPTOR, INC OR APPROVED EQUAL)	20.00	48.85	977.00	65.00	1,300.00			45.13	902.60
7	8" VALVE BOX ADAPTOR II (ADAPTOR, INC OR APPROVED EQUAL)	20.00	48.85	977.00	70.00	1,400.00			45.13	902.60
8	ERIE STYLE 1" CURB BOXES WITH 36" ROD, 2 HOLE COVER, ADJUST 4' TO 5' (FORD, MUELLER, BIBBY OR APPROVED EQUAL)	100.00	45.20	4,520.00	80.00	8,000.00			65.32	6,532.00
9	ERIE STYLE 1" CURB BOX WITH 36" ROD ONLY CAT #ROD-36	10.00	15.98	159.80	80.00	800.00			17.28	172.80
10	ERIE STYLE 2 INCH CURB BOX WITHOUT ROD AND TWO HOLE COVER, ADJUST 4' TO 5' (FORD, MUELLER, BIBBY OR APPROVED EQUAL) CAT #EA2-45-50	10.00	66.92	669.20	120.00	1,200.00			76.11	761.10
11	CURB BOX EXTENSIONS - 1" WITH SET SCREWS AND TWO HOLE COVER, 6" LENGTH	50.00	61.93	3,096.50	44.00	2,200.00			20.99	1,049.50
12	CURB BOX EXTENSIONS - 1" WITH SET SCREWS AND TWO HOLE COVER, 12" LENGTH	25.00	63.87	1,596.75	48.00	1,200.00			23.65	591.25
13	CURB BOX EXTENSIONS - 1" WITH SET SCREWS AND TWO HOLE COVER, 18" LENGTH	25.00	53.46	1,336.50	50.00	1,250.00			24.97	624.25
14	ERIE TWO HOLE CURB BOX COVERS TO FIT 1 INCH	100.00	22.97	2,297.00	19.00	1,900.00			9.07	907.00
15	GATE BOX EXTENSION SIZE 5 1/4 X 12 INCH LESS COVER - SIMILAR TO TYLER UNION 69A SLIP RISER	100.00	52.84	5,284.00	46.00	4,600.00			61.25	6,125.00
16	GATE BOX EXTENSION SIZE 5 1/4 X 24 INCH LESS COVER - SIMILAR TO TYLER UNION 69A SLIP RISER	100.00	79.64	7,964.00	91.00	9,100.00			61.25	6,125.00
17	GATE BOX COVERS TO FIT EXTENSIONS Sub-Total	125.00	22.04	2,755.00	20.00	2,500.00			18.38	2,297.50
	CATEGORY II			53,952.50		66,125.00		0.00		55,728.85
18	1" MUELLER STOPS, MUELLER B25008 FOR 1" COPPER TUBING, BALL TYPE, FULL PORT NO SUBSTITUTES	200.00			91.75	18,350.00			93.21	18,642.00
19	1" MUELLER BALL VALVE CURB STOPS, MUELLER B25209 FOR 1" COPPER TUBING, FULL PORT, NO SUBSTITUTES Sub-Total	200.00			148.50	29,700.00			150.83	30,166.00
	CATEGORY III			0.00		48,050.00		0.00		48,808.00
20	4" SMITH BLAIR 442 CAST COUPLING, CAT. #442-00000510 OR AS REQUIRED	6.00	128.98	773.88	233.00	1,398.00	119.71	718.26	127.58	765.48
21	6" SMITH BLAIR 442 CAST COUPLING, CAT. #442-00000722 OR AS REQUIRED	6.00	154.15	924.90	295.00	1,770.00	143.08	858.48	152.48	914.88
22	8" SMITH BLAIR 442 CAST COUPLING, CAT. #442-00000930 OR AS REQUIRED	6.00	206.26	1,237.56	408.00	2,448.00	191.45	1,148.70	204.02	1,224.12
23	10" SMITH BLAIR 442 CAST COUPLING, CAT. #442-00001160- 400 OR AS REQUIRED	6.00	399.74	2,398.44	468.00	2,808.00	371.03	2,226.18	378.92	2,273.52
24	12" SMITH BLAIR 442 CAST COUPLING, CAT. #442-00001350- 400 OR AS REQUIRED	4.00	435.62	1,742.48	515.00	2,060.00	404.34	1,617.36	412.93	1,651.72
25	16" SMITH BLAIR 442 CAST COUPLING, CAT. #442-00001780- 400 OR AS REQUIRED	4.00	686.63	2,746.52	890.00	3,560.00	637.33	2,549.32	650.87	2,603.48
26	4" 226 SMITH BLAIR FULL CIRCLE CLAMP COUPLING SINGLE BAND CAT. #226-00048015-000	4.00	115.47	461.88	120.00	480.00	107.18	428.72	114.22	456.88
27	6" 226 SMITH BLAIR FULL CIRCLE CLAMP COUPLING SINGLE BAND, CAT.#226-00069015-000	10.00	128.13	1,281.30	132.50	1,325.00	118.93	1,189.30	126.74	1,267.40
28	8" 226 SMITH BLAIR FULL CIRCLE CLAMP COUPLING SINGLE BAND, CAT.#226-00090515-000	4.00	157.36	629.44	163.00	652.00	146.06	584.24	155.65	622.60
29	10" 226 SMITHBLAIR FULL CIRCLE CLAMP COUPLING SINGLE BAND, CAT.#226-00111015-000	4.00	196.50	786.00	203.00	812.00	182.37	729.48	186.26	745.04
30	12" 226 SMITHBLAIR FULL CIRCLE CLAMP COUPLING SINGLE BAND, CAT.#226-00132015-000	4.00	226.41	905.64	235.00	940.00	210.15	840.60	214.62	858.48
31	4" 227 SMITH BLAIR FULL CIRCLE CLAMP COUPLING DOUBLE BAND, CAT.#227-00050015-000	2.00	184.47	368.94	191.00	382.00	171.23	342.46	182.47	364.94

CITY OF MIDDLETOWN, CT
 Department Review Report
 Bid# 2024-021 PURCHASE OF PIPING, HYDRANTS, MANHOL

#	Description	Qty	SUPERIOR PRODUCTS DIST., INC. MILLDALE, CT		CORE & MAIN LP NEW BRITAIN, CT		FW WEBB COMPANY HARTFORD, CT		FERGUSON US HOLDINGS, INC. NEWINGTON, CT	
			Unit-Price	Extension	Unit-Price	Extension	Unit-Price	Extension	Unit-Price	Extension
32	6" 227 SMITH BLAIR FULL CIRCLE CLAMP COUPLING DOUBLE BAND, CAT.#227-00069015-000	2.00	209.10	418.20	217.00	434.00	194.08	388.16	206.83	413.66
33	8" 227 SMITH BLAIR FULL CIRCLE CLAMP COUPLING DOUBLE BAND, CAT.#227-00090515-000	2.00	237.76	475.52	246.00	492.00	220.69	441.38	235.18	470.36
34	10" 227 SMITHBLAIR FULL CIRCLE CLAMP COUPLING DOUBLE BAND, CAT.#227-00111015-000	2.00	308.71	617.42	320.00	640.00	286.54	573.08	292.64	585.28
35	12" 227 SMITHBLAIR FULL CIRCLE CLAMP COUPLING DOUBLE BAND, CAT.#227-00132015-000	2.00	338.18	676.36	350.00	700.00	313.89	627.78	320.57	641.14
36	16" 228 SMITHBLAIR FULL CIRCLE CLAMP COUPLING DOUBLE BAND, CAT.#228-20171515-000	2.00	470.00	940.00	486.00	972.00	436.25	872.50	445.52	891.04
37	6" TOTAL PIPING SOLUTIONS, INC., QUICK-SLEEVE BELL JOINT REPAIR	10.00	1,352.61	13,526.10	1,136.00	11,360.00	163.33	1,633.30	174.05	1,740.50
38	8" TOTAL PIPING SOLUTIONS, INC., QUICK-SLEEVE BELL JOINT REPAIR	10.00	1,602.14	16,021.40	1,346.00	13,460.00	228.17	2,281.70	243.15	2,431.50
39	10" TOTAL PIPING SOLUTIONS, INC., QUICK-SLEEVE BELL JOINT REPAIR	10.00	2,114.51	21,145.10	1,776.00	17,760.00	272.00	2,720.00	277.78	2,777.80
40	12" TOTAL PIPING SOLUTIONS, INC., QUICK-SLEEVE BELL JOINT REPAIR	10.00	2,257.96	22,579.60	1,896.00	18,960.00	284.43	2,844.30	290.47	2,904.70
41	6" HYMAX COUPLING OD 6.42" TO 7.68" HMX860-54-0163-16	12.00	534.09	6,409.08	406.00	4,872.00	224.98	2,699.76	300.91	3,610.92
42	8" HYMAX COUPLING OD 8.54" TO 9.84" HMX860-54-0217-16	12.00	602.27	7,227.24	458.00	5,496.00	254.78	3,057.36	339.74	4,076.88
43	10" HYMAX COUPLING OD 10.70" TO 12.00" HMX860-54-0272-16	2.00	772.73	1,545.46	590.00	1,180.00	352.79	705.58	418.85	837.70
44	12" HYMAX COUPLING OD 12.40" TO 13.66" HMX860-54-0315-16	2.00	914.77	1,829.54	696.00	1,392.00	471.46	942.92	494.37	988.74
45	6" X 12" STAINLESS STEEL REPAIR CLAMP W/ 1" CC, SMITH-BLAIR SMB238-00069012-009	4.00	138.17	552.68	143.00	572.00	118.32	473.28	154.65	618.60
46	8" STAINLEES STEEL REPAIR CLAMP W/ 1" CC, SMITH-BLAIR SMB238-00090512-009	4.00	159.97	639.88	166.00	664.00	148.48	593.92	158.23	632.92
47	10" STAINLESS STEEL REPAIR CLAMP W/ 1" CC SMITH-BLAIR SMB238-00111012-009	4.00	183.81	735.24	190.00	760.00	170.61	682.44	174.24	696.96
48	12" STAINLESS STEEL REPAIR CLAMP W/ 1" CC SMITH-BLAIR SMB238-00132007-009	4.00	141.12	564.48	146.00	584.00	130.99	523.96	133.77	535.08
	Sub-Total			110,160.28		98,933.00		35,294.52		38,602.32
	CATEGORY IV									
49	MUELLER SUPER CENTURION FIRE HYDRANT, CAT. #A421, 4-1/2", THREE-WAY, 5 FT BURY, OPEN LEFT, LESS ACCESSORIES, NO SUBSTITUTES	50.00			2,982.50	149,125.00			2,967.16	148,358.00
50	MUELLER SUPER CENTURION FIRE HYDRANT, CAT. #A421, 4-1/2", THREE-WAY, 5-1/2 FT BURY, OPEN LEFT, LESS ACCESSORIES, NO SUBSTITUTES	1.00			3,036.50	3,036.50			3,020.92	3,020.92
51	6" MUELLER HYDRANT EXTENSION KIT, CAT. #A-319, NO SUBSTITUTES	10.00			696.43	6,964.30			610.27	6,102.70
52	1' MUELLER HYDRANT EXTENSION KIT, CAT. #A-319, NO SUBSTITUTES	10.00			810.30	8,103.00			710.05	7,100.50
53	1'-6" MUELLER HYDRANT EXTENSION KIT, CAT. #A-319, NO SUBSTITUTES	10.00			877.13	8,771.30			768.62	7,686.20
54	MUELLER SUPER CENTURION FIRE HYDRANT, SHOE REPAIR KIT, NO SUBSTITUTES	10.00			419.00	4,190.00			366.98	3,669.80
55	MUELLER SUPER CENTURION FIRE HYDRANT, SAFETY FLANGE REPAIR KIT, NO SUBSTITUTES	10.00			336.00	3,360.00			294.31	2,943.10
56	MUELLER SUPER CENTURION FIRE HYDRANT MAIN VALVE REPAIR KIT NO SUBSTITUTES	5.00			603.00	3,015.00			527.84	2,639.20
57	MUELLER SUPER CENTURION FIRE HYDRANT BONNET REPAIR KIT NO SUBSTITUTES	5.00			112.00	560.00			98.48	492.40
	Sub-Total			0.00		187,125.10		0.00		182,012.82
	CATEGORY V									
58	6" MUELLER, KENNEDY OR CLOW M.J. R.S. GATE VALVES (OPEN RIGHT), LESS ACCESSORIES	10.00			892.88	8,928.80	883.26	8,832.60	921.21	9,212.10
59	8" MUELLER, KENNEDY OR CLOW M.J. R.S. GATE VALVES (OPEN RIGHT), LESS ACCESSORIES	10.00			1,422.07	14,220.70	1,406.82	14,068.20	1,467.28	14,672.80
60	10" MUELLER, KENNEDY OR CLOW M.J. R.S. GATE VALVES (OPEN RIGHT), LESS ACCESSORIES	1.00			2,217.28	2,217.28	2,193.65	2,193.65	2,287.91	2,287.91
61	12" MUELLER, KENNEDY OR CLOW M.J. R.S. GATE VALVES (OPEN RIGHT), LESS ACCESSORIES	1.00			2,805.66	2,805.66	2,775.79	2,775.79	2,895.06	2,895.06
62	6" MUELLER, KENNEDY OR CLOW M.J. R.S. TAPPING VALVES (OPEN RIGHT),	10.00			1,277.89	12,778.90	1,233.49	12,334.90	1,286.49	12,864.90

CITY OF MIDDLETOWN, CT
 Department Review Report
 Bid# 2024-021 PURCHASE OF PIPING, HYDRANTS, MANHOL

#	Description	Qty	SUPERIOR PRODUCTS DIST., INC. MILLDALE, CT		CORE & MAIN LP NEW BRITAIN, CT		FW WEBB COMPANY HARTFORD, CT		FERGUSON US HOLDINGS, INC. NEWINGTON, CT	
			Unit-Price	Extension	Unit-Price	Extension	Unit-Price	Extension	Unit-Price	Extension
	LESS ACCESSORIES, MUST ACCEPT FULL SIZE CUTTER									
63	8" MUELLER, KENNEDY OR CLOW M.J. R.S. TAPPING VALVES (OPEN RIGHT), LESS ACCESSORIES, MUST ACCEPT FULL SIZE CUTTER	10.00			1,822.57	18,225.70	1,831.00	18,310.00	1,909.68	19,096.80
64	12" MUELLER, KENNEDY OR CLOW M.J. R.S. TAPPING VALVES (OPEN RIGHT), LESS ACCESSORIES, MUST ACCEPT FULL SIZE CUTTER	10.00			4,151.78	41,517.80	4,170.78	41,707.80	4,350.00	43,500.00
65	6" X 6" TAPPING SLEEVE, TPS TRIPLE TAP, SMITH BLAIR 665	4.00			690.00	2,760.00	640.07	2,560.28	667.58	2,670.32
66	8" X 6" TAPPING SLEEVE, TPS TRIPLE TAP, SMITH BLAIR 665	8.00			716.00	5,728.00	664.38	5,315.04	692.93	5,543.44
67	8" X 8" TAPPING SLEEVE, TPS TRIPLE TAP, SMITH BLAIR 665	4.00			913.00	3,652.00	847.19	3,388.76	883.60	3,534.40
68	10" X 6" TAPPING SLEEVE, TPS TRIPLE TAP, SMITH BLAIR 665	4.00			818.00	3,272.00	759.25	3,037.00	767.38	3,069.52
69	10" X 8" TAPPING SLEEVE, TPS TRIPLE TAP, SMITH BLAIR 665	4.00			995.00	3,980.00	922.96	3,691.84	932.85	3,731.40
70	12" X 6" TAPPING SLEEVE, TPS TRIPLE TAP, SMITH BLAIR 665	4.00			925.00	3,700.00	858.57	3,434.28	867.77	3,471.08
71	12" X 8" TAPPING SLEEVE, TPS TRIPLE TAP, SMITH BLAIR 665	8.00			1,159.00	9,272.00	1,075.14	8,601.12	1,086.66	8,693.28
72	16" X 8" TAPPING SLEEVE, TPS TRIPLE TAP, SMITH BLAIR 665	4.00			1,584.00	6,336.00	1,469.50	5,878.00	1,485.25	5,941.00
73	6" EBAA MEGALUG 1100 OR FORD 1400 UNIFLANGE RESTRAINTS GLANDS WITH ACCESSORIES	100.00			58.77	5,877.00	56.33	5,633.00	52.78	5,278.00
74	8" EBAA MEGALUG 1100 OR FORD 1400 UNIFLANGE RESTRAINTS GLANDS WITH ACCESSORIES	100.00			78.48	7,848.00	75.23	7,523.00	63.50	6,350.00
75	10" EBAA MEGALUG 1100 OR FORD 1400 UNIFLANGE RESTRAINTS GLANDS WITH ACCESSORIES	100.00			112.10	11,210.00	107.47	10,747.00	91.12	9,112.00
76	12" EBAA MEGALUG 1100 OR FORD 1400 UNIFLANGE RESTRAINTS GLANDS WITH ACCESSORIES	100.00			148.15	14,815.00	142.03	14,203.00	109.93	10,993.00
77	16" EBAA MEGALUG 1100 OR FORD 1400 UNIFLANGE RESTRAINTS GLANDS WITH ACCESSORIES	10.00			249.09	2,490.90	238.82	2,388.20	229.24	2,292.40
78	6" EBAA SERIES 1700 JOINT RESTRAINTS OR FORD 1450 JOINT RESTRAINTS	10.00			92.41	924.10	88.60	886.00	90.73	907.30
79	8" EBAA SERIES 1700 JOINT RESTRAINTS OR FORD 1450 JOINT RESTRAINTS	10.00			117.39	1,173.90	112.54	1,125.40	107.27	1,072.70
80	10" EBAA SERIES 1700 JOINT RESTRAINTS OR FORD 1450 JOINT RESTRAINTS	10.00			193.61	1,936.10	185.63	1,856.30	168.88	1,688.80
81	12" EBAA SERIES 1700 JOINT RESTRAINTS OR FORD 1450 JOINT RESTRAINTS	10.00			242.39	2,423.90	232.40	2,324.00	195.50	1,955.00
82	16" EBAA SERIES 1700 JOINT RESTRAINTS OR FORD 1450 JOINT RESTRAINTS	10.00			543.33	5,433.30	520.94	5,209.40	424.75	4,247.50
83	6" M.J. RETAINER GLANDS-MEGALUG	50.00			32.05	1,602.50	30.72	1,536.00	35.25	1,762.50
84	8" M.J. RETAINER GLANDS-MEGALUG	50.00			48.88	2,444.00	46.89	2,344.50	53.80	2,690.00
85	10" M.J. RETAINER GLANDS-MEGALUG	50.00			72.39	3,619.50	69.39	3,469.50	77.96	3,898.00
86	12" M.J. RETAINER GLANDS-MEGALUG	50.00			105.31	5,265.50	100.97	5,048.50	113.43	5,671.50
87	16" M.J. RETAINER GLANDS-MEGALUG	50.00			543.33	27,166.50	184.15	9,207.50	202.65	10,132.50
88	6" M.J. SOLID SLEEVE LESS ACCESSORIES	10.00			130.98	1,309.80	145.20	1,452.00	134.62	1,346.20
89	8" M.J. SOLID SLEEVE LESS ACCESSORIES	10.00			170.05	1,700.50	188.50	1,885.00	174.77	1,747.70
90	10" M.J. SOLID SLEEVES LESS ACCESSORIES	4.00			253.54	1,014.16	281.05	1,124.20	255.15	1,020.60
91	12" M.J. SOLID SLEEVES LESS ACCESSORIES	6.00			342.39	2,054.34	379.54	2,277.24	344.56	2,067.36
92	16" M.J. SOLID SLEEVES LESS ACCESSORIES	1.00			857.88	857.88	950.98	950.98	845.71	845.71
	Sub-Total				0.00	240,561.72		217,319.98		216,262.78
	CATEGORY VI									
93	4" TYTON PUSH ON JOINT DUCTILE IRON PIPE - UNIT PRICE PER FOOT PIPE LENGTH (IN FEET)	180.00	38.98	7,016.40	37.47	6,744.60	37.79	6,802.20	39.19	7,054.20
94	6" TYTON PUSH ON JOINT DUCTILE IRON PIPE - UNIT PRICE PER FOOT PIPE LENGTH (IN FEET)	1,800.00	29.96	53,928.00	28.66	51,588.00	29.04	52,272.00	30.12	54,216.00
95	8" TYTON PUSH ON JOINT DUCTILE IRON PIPE - UNIT PRICE PER FOOT PIPE LENGTH (IN FEET)	1,800.00	42.27	76,086.00	40.44	72,792.00	40.97	73,746.00	42.50	76,500.00
96	10" TYTON PUSH ON JOINT DUCTILE IRON PIPE - UNIT PRICE PER FOOT PIPE LENGTH (IN FEET)	180.00	55.41	9,973.80	52.99	9,538.20	54.81	9,865.80	55.71	10,027.80
97	12" TYTON PUSH ON JOINT DUCTILE IRON PIPE - UNIT PRICE PER FOOT	1,800.00	69.77	125,586.00	66.74	120,132.00	67.63	121,734.00	70.14	126,252.00

CITY OF MIDDLETOWN, CT
 Department Review Report
 Bid# 2024-021 PURCHASE OF PIPING, HYDRANTS, MANHOL

#	Description	Qty	SUPERIOR PRODUCTS DIST., INC. MILLDALE, CT		CORE & MAIN LP NEW BRITAIN, CT		FW WEBB COMPANY HARTFORD, CT		FERGUSON US HOLDINGS, INC. NEWINGTON, CT	
			Unit-Price	Extension	Unit-Price	Extension	Unit-Price	Extension	Unit-Price	Extension
98	PIPE LENGTH (IN FEET) 16" TYTON PUSH ON JOINT DUCTILE IRON PIPE - UNIT PRICE PER FOOT	900.00	100.96	90,864.00	96.59	86,931.00	97.87	88,083.00	101.50	91,350.00
	Sub-Total			363,454.20		347,725.80		352,503.00		365,400.00
	CATEGORY VII									
99	PIPE LENGTH (IN FEET) 6" POLYVINYL CHLORIDE (PVC) SDR 35 PIPE - 14 FT LENGTHS - UNIT PRICE PER FOOT	140.00			6.00	840.00	5.78	809.20	5.13	718.20
100	PIPE LENGTH (IN FEET) 6" POLYVINYL CHLORIDE (PVC) SDR 35 PIPE - 6.5 FT LENGTHS - UNIT PRICE PER FOOT	130.00			6.50	845.00	5.90	767.00	5.13	666.90
101	PIPE LENGTH (IN FEET) 8" POLYVINYL CHLORIDE (PVC) SDR 35 PIPE - UNIT PRICE PER FOOT	1,000.00			10.75	10,750.00	10.50	10,500.00	9.32	9,320.00
102	PIPE LENGTH (IN FEET) 10" POLYVINYL CHLORIDE (PVC) SDR 35 PIPE - UNIT PRICE PER FOOT	100.00			16.75	1,675.00	16.33	1,633.00	14.49	1,449.00
103	PIPE LENGTH (IN FEET) 12" POLYVINYL CHLORIDE (PVC) SDR 35 PIPE - UNIT PRICE PER FOOT	1,000.00			24.00	24,000.00	23.49	23,490.00	20.85	20,850.00
	Sub-Total			0.00		38,110.00		37,199.20		33,004.10
	CATEGORY VIII									
104	4" GASKETED SEWER REPAIR COUPLINGS (BELL TO BELL)	12.00			16.33	195.96	14.58	174.96	15.82	189.84
105	6" GASKETED SEWER REPAIR COUPLINGS (BELL TO BELL)	12.00			32.61	391.32	29.11	349.32	31.59	379.08
106	8" GASKETED SEWER REPAIR COUPLINGS (BELL TO BELL)	12.00			55.38	664.56	49.45	593.40	53.63	643.56
107	10" GASKETED SEWER REPAIR COUPLINGS (BELL TO BELL)	12.00			122.91	1,474.92	101.62	1,219.44	119.00	1,428.00
108	12" GASKETED SEWER REPAIR COUPLINGS (BELL TO BELL)	12.00			178.58	2,142.96	147.66	1,771.92	172.89	2,074.68
	Sub-Total			0.00		4,869.72		4,109.04		4,715.16
	CATEGORY IX									
109	4" CLAY TO CLAY SERIES 1001	6.00			5.83	34.98			5.29	31.74
110	4" CLAY TO PLASTIC SERIES 1002	6.00			5.40	32.40			4.90	29.40
111	4" PLASTIC TO PLASTIC SERIES 1056	12.00			5.40	64.80			4.90	58.80
112	4 INCH CLAY TO CLAY FERNCO SERIES 5001RC	6.00			27.41	164.46			20.93	125.58
113	4 INCH CLAY TO PLASTIC FERNCO SERIES 5002RC	6.00			40.18	241.08			30.68	184.08
114	4 INCH PLASTIC TO PLASTIC FERNCO SERIES 5056RC	12.00			27.41	328.92			20.93	251.16
115	6" CLAY TO CLAY SERIES 1001	12.00			12.47	149.64			11.31	135.72
116	6" CLAY TO PLASTIC SERIES 1002	12.00			11.55	138.60			10.48	125.76
117	6" PLASTIC TO PLASTIC SERIES 1056	12.00			11.55	138.60			10.48	125.76
118	6 INCH CLAY TO CLAY FERNCO SERIES 5001RC	12.00			52.21	626.52			39.87	478.44
119	6 INCH CLAY TO PLASTIC FERNCO SERIES 5002RC	12.00			68.14	817.68			52.02	624.24
120	6 INCH PLASTIC TO PLASTIC FERNCO SERIES 5056RC	12.00			52.21	626.52			39.87	478.44
121	8" CLAY TO CLAY SERIES 1001	12.00			19.19	230.28			17.41	208.92
122	8" CLAY TO PLASTIC SERIES 1002	12.00			17.77	213.24			16.12	193.44
123	8 INCH PLASTIC TO PLASTIC SERIES 1056	12.00			17.77	213.24			16.12	193.44
124	8 INCH CLAY TO CLAY FERNCO SERIES 5001RC	12.00			77.52	930.24			59.18	710.16
125	8 INCH CLAY TO PLASTIC FERNCO SERIES 5002RC	12.00			77.52	930.24			59.18	710.16
126	8 INCH PLASTIC TO PLASTIC FERNCO SERIES 5056RC	12.00			77.52	930.24			59.18	710.16
	Sub-Total			0.00		6,811.68		0.00		5,375.40

CITY OF MIDDLETOWN, CT
 Department Review Report
 Bid# 2024-021 PURCHASE OF PIPING, HYDRANTS, MANHOL

#	Description	Qty	SUPERIOR PRODUCTS DIST., INC. MILLDALE, CT		CORE & MAIN LP NEW BRITAIN, CT		FW WEBB COMPANY HARTFORD, CT		FERGUSON US HOLDINGS, INC. NEWINGTON, CT	
			Unit-Price	Extension	Unit-Price	Extension	Unit-Price	Extension	Unit-Price	Extension
CATEGORY X										
127	1 FT RISER SECTIONS	1.00								
128	2 FT RISER SECTIONS	1.00								
129	3 FT RISER SECTIONS	1.00								
130	4 FT RISER SECTIONS	1.00								
131	4 FT DOGHOUSE BASE SECTION	1.00								
132	3' X 48" MH BASE SECTION	1.00								
133	4' X 48" MH BASE SECTION	1.00								
134	4' - 48" ECCENTRIC CONE WITH 24" OPENING	1.00								
135	3' - 48" ECCENTRIC CONE WITH 24" OPENING	1.00								
136	4' - 48" ECCENTRIC CONE WITH 36" OPENING	1.00								
137	48" FLAT SLAB TOP WITH 24" OPENING	1.00								
138	48" FLAT SLAB TOP WITH 36" OPENING	1.00								
139	KOR-N-SEAL BOOT 8" DIAMETER	10.00								
140	KOR-N-SEAL BOOT 12" DIAMETER	10.00								
141	CONSEAL PER 48" DIAMETER (ROLL)	20.00								
142	48" DIAMETER MH BIT COATING PER VERTICAL FT	100.00								
Sub-Total				0.00		0.00		0.00		0.00
CATEGORY XI										
143	HEAVY DUTY MANHOLE FRAME AND COVER TYPE "AV"	1.00			600.00	600.00			630.68	630.68
144	HEAVY DUTY MANHOLE FRAME AND COVER TYPE "AS"	1.00			550.00	550.00			576.88	576.88
145	HEAVY DUTY MANHOLE - COVER ONLY TYPE "AV"	1.00			225.00	225.00			232.07	232.07
146	HEAVY DUTY MANHOLE - COVER ONLY TYPE "AS"	1.00			175.00	175.00			178.27	178.27
147	HEAVY DUTY WATER TIGHT MANHOLE FRAME AND COVER TYPE "B"	1.00			749.00	749.00			590.66	590.66
148	HEAVY DUTY WATER TIGHT MANHOLE COVER ONLY TYPE "B"	1.00			193.00	193.00			198.00	198.00
149	4" HIGH HEAVY DUTY MANHOLE FRAME AND COVER TYPE "C"	1.00			386.00	386.00			402.68	402.68
150	HEAVY DUTY MANHOLE COVER TYPE "C"	1.00			175.00	175.00			178.27	178.27
151	6" HIGH HEAVY DUTY MANHOLE FRAME AND COVER TYPE "C"	1.00			407.00	407.00			371.08	371.08
152	8" HIGH HEAVY DUTY MANHOLE FRAM AND COVER TYPE "C"	1.00			449.00	449.00			416.39	416.39
153	ADJUST TO GRADE MANHOLE RISER STEEL - 24" X 1-1/4" X 1"	1.00			180.00	180.00			184.11	184.11
154	ADJUST TO GRADE MANHOLE RISER CASTING - 24" X 1-1/4" X 1-1/2"	1.00			142.00	142.00			143.65	143.65
155	ADJUST TO GRADE MANHOLE RISER CASTING - 24" X 1-1/4" X 2"	1.00			161.00	161.00			163.46	163.46
Sub-Total				0.00		4,392.00		0.00		4,266.20
Total of Items 1-155:				527,566.98		1,042,704.02		646,425.74		954,175.63